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Falte das Blatt entlang der Linie und berechne W.   (G · p : 100 = W) 

 1) G =  835,69 m² p = 0,8%  W = ______ W = 6,69 m² 

 

 

 2) G =  997,41 € p = 1,4%  W = ______ W = 13,96 € 

 

 

 3) G = 44,61 km p = 1,4%  W = ______ W = 0,62 km 

 

 

 4) G = 157,92 m² p = 0,4%  W = ______ W = 0,63 m² 

 

 

 5) G = 674,73 kg p = 1,2%  W = ______ W = 8,10 kg 

 

 

 6) G = 345,53 hl p = 1,2%  W = ______ W = 4,15 hl 

 

 

 7) G = 765,20 km p = 0,1%  W = ______ W = 0,77 km 

 

 

 8) G = 199,59 m² p = 1,2%  W = ______ W = 2,40 m² 

 

 

 9) G = 954,41 km p = 0,4%  W = ______ W = 3,82 km 

 

 

10) G = 968,04 m² p = 0,5%  W = ______ W = 4,84 m² 

 

 

11) G = 574,12 km p = 1,3%  W = ______ W = 7,46 km 

 

 

12) G = 546,65 € p = 0,8%  W = ______ W = 4,37 € 

 

 

13) G = 473,23 hl p = 0,5%  W = ______ W = 2,37 hl 

 

 

14) G = 464,08 m² p = 0,3%  W = ______ W = 1,39 m² 

 

 

15) G = 850,13 m² p = 0,4%  W = ______ W = 3,40 m² 

Ergebnis: 


